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$W %YRRVW RXU PLVVLRQ LV WR HQVXUH (
ORVHV PRWLYDWLRQ RU OHDYHV HGXFDW
ZHUH XQDEOH WR DFFHVV HIIHFWLYH UHC
VXSSRUW ZKHQ WKH\ QHHGHG LW WKH PR

. KDW
c H'R

%RRVW RIITHUV FXUDWHG FROOHFWLRQV R
OHYHO YLGHRV GHVLJQHG WR PLPLF D SU
H[SHULHQFH 2XU OHDUQLQJ SDWKZzZD\V LF
VWXGHQW RXWFRPHV ZKHQ XVHG DV DQ L
VWXG\ UHVRXUFH FRXUVH SUHUHTXLVLW!
SUHSDUDWLRQ RU YLUWXDO WXWRU /HDI
FDQ EH FXVWRPLVHG WR XQLYHUVLW\ RU
FXUULFXOD WR HQVXUH VWXGHQWYV JHW V
WKH\ QHHG WR VXFFHHG



4 X DOVIVDVIIYH 6 NLAY
&KD@IQI HV

%RRVW HIIHFWLYHO\ DGGUHVVHV WKH PXOWLSO
VWXGHQWY DUH IDFLQJ LQ KLIJKHU HGXFDWLRQ
LPSURYH OHDUQLQJ RXWFRPHYV

/2: &21),"(1&( r

%RRVW UHPRYHV WKH DQ[LHV\J
ZURQJ DQG LPSURYHV VWXGH
FRQILGHQFH WKURXJK LWHUD|

3225 (1*$*(0(17

%RRVW EUHDNV GRZQ WKH O
SURFHVV LQWR ELWH VL]HG

VWHSYV $V WKH\ UHILQH WKH
XQGHUVWDQGLQJ OHDUQHUYV
HQFRXUDJHG E\ YLVLEOH SUR

$775,7,21

%RRVW DGGUHVVHV WKH FRP
FRQILGHQFH JDSV WKDW QHJ
VWXGHQW VXFFHVV %\ LPSU
RXWFRPHY DQG VDWLVIDFWL
VXSSRUWYV UHWHQWLRQ DFUR
VRFLDO VFLHQFH GLVFLSOLQ

5(6285&( 29(5/2%"

%RRVW GHOLYHUV FRQWHQW
DFFHVVLEOH DQG HQJDJLQJ
FXUDWLRQ DQG DSSURDFK W
FXVWRPLVDWLRQ HQVXUH OHE
WKH FRQWHQW UHOHYDQW W H



: D\ VWR
8 VH YRRWV

YRRWMY RSVIP LVHG | RUVKVRUQJ DQG WX GHOVWXFFHW
FHQWHV DFDGHP LF GHSDU/? HQW' DQG XQLYHUAW QEWDUHY

2. The text of the multiple choice question?
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/ HDUQHWY FDQ EWRZ VH WH FRBPARQVRI
FXUDMG EIWA M} HG WVRUDOYGHRY DQG
SUDPARH TXHVARQV | RULQGHSHQGHQWANG:
RUH DP HYIMRQ

$66,*1(" 9, (2 & 856(6

/ LELDUHV GHSDUR HQW DQG VIXGHQW
XFRHW FHOWA VMAHG Z W VXSSRUAQ
WMXJJ @ GDUOHY/ FDQ VXSSGP HOW
SWRILDP V/Z [W YRR HQVXLH
SHGDIRJLED® VRXQG FRQYHQLHQW
DFFHW | RUD@BDUDHY

6833/ (0 (17$/ 9, (26

' HSDUR HQW FDQ DWAJQ GDLIQ)
SDWZ D\ VDV D FRVAH | HAAYH DQG
HQIDILQI VXSS®P HQWR \WIQGDLG
W VERRNV RUDV SUHLHT XMWV | RU
IOFRP IQJ FRKRUVRI P I HG DELOWV

&86720 ,6(" 3/%$</,676

" HSDUR HQW FDQ FXWWRP IVH FXUDWG
SO\ OV Z I WHURZ Q YIGHRV MIGHV
RUGDVD VHW VR VXSSP HOW

DV QFKURQRXV FROMQUZ WK YRRV
KLIK TXDON UHVRXUFHV 6DYIQ) HGXFDRU
WP HDQGP O [P 1 LQJ WDRKIQU P SDRW



HWHG
3HGDJRJ\

YRRWFDQ EH XVHG DFLRW VIKH XQLYHUMW VIR DGGLHW
FKD@QIHV Z VK UHVWQURQ VFDIE® BIDURLQJ VXSSRUN
DQG WX GHQWVDVIM DPRQ

6XEVFULSWLRQRDFWKWVHQWLUHH FRPSOHPHQW EXW GR QRW UH
LOQVWLWXWLRQ WR VXEMHFW RU GLVFLSOLQH
FROOHFWLRQV e —Q SHUVRQ OHFWXUHV DQG W

6HDPOHVYV DFARAMK\HDV\ DXWKHQWIZEDWLRQRQDO JUDGLQJ DQG L

XVLQJ LQVWLWXWLRQDO FUHGHQWLDOV RU VLQJOH

VLIQ RQ e 7KH VFKRRO V SULPDU\ YLUWX
HQYLURQPHQW

'LVFRYHUDEBLWIKWQ WKH XQLYHUVLW\

OLEUDU\ XVLQJ 0$5& UHFRUGY )DFXOW\ DVVLJQHG UHDGLQJ C
WH[WERRNV RU KRPHZRUN

$FFHVVLEHDODWWUHY DQG VXSSRUW WR

HQVXUH DOO OHDUQHUV DUH DFFRPPRGDWHG




YRRW\LY DP D] LQJ “WKHGHG
P HDVRQZ LYK P DVKV —GRQW
NQRZ Z KDW-Z RXQS YH GRQH
Z WKRXWIW 7KLQJ V DUH

H[ WWHP HO Z H@H[ SMLOHG
DQG FRQFHSW Z HUH

P XFK FIDUHUZ WK YRRWV

BVGHOW
P SHUDORR@BIH/ RQGRQ




) O LEQH
7HFKQRM®RJ\

—QGLYLGXDO WXWRULDO YLGHRV3 583DFWURKH/ ('
TXHVWLRQV DQG OHDUQLQJ SDWKZD\Y / oF5$5<
WKDW FDQ EH WDNHQ LQGHSHQGHQWO\

RU DV SDUW RI DQ DV\QFKURQRXYV
DVVLIQPHQW

$- GULYHQ UHFRPPHQGDWLRQ! .

DQ HPSKDVLVY RQ HQIJDJHPHQW DQG

EXLOGLQJ PDWKHPDWLFDO 10XxHER okt y
(GLWDEOH OHDUQLQJ SDWKZD

FXUDWHG WR RSWLPLVH VPDO v

DQG SURJUHVVLRQ HPSKDVLV

WKUHH VRFLDO DQG HPRWLRQ

OHDUQLQJ IDFWRUV IRFXV

PRWLYDWLRQ DQG FRQILGHQFH "R ATty



2 XU
&RXUMH ) RZ

7TKHRU 9IGR

$WHWP HQW
4 XHWMRQ

$WHWP HOW
4 XHWMRQ

([HAWH
9IGR

BWGHWEHIIQWHU
RXUCH B\ Z DAKIQU DQ
IQUDOKHRY YIG-R

BWGHONWMAWKHU
XQGHIMIQEQI DG
UHFHYHIP P HADM
IHHGEDAN

BVMGHQN'Z DK DVIMS B\
MS YIG-RRQKRZ \RVROH
WHTXHRQ \R WDV
IQFRUHVIDQVZ HY/UHFHYH
ERW FRUHAURQDQG DQ

H SOQDWRQ

4 XHVRQVIGRUHDH
GlLHEXOVVR SXVK VIMGHQW

IXUKHUIQ WHUGDLQIQ)

6WS B\ WS IXIGHG
VROMRQVUHQIRUH
FRQAHSW/I RUFRUHAW
DQVZ HY [P SLRYIQ) WKH
XQGHIMQEQ) DG
FRQIGHH
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( DFK SUDPVIEH TXHWIRQ LV | RGRZ HG E\

DWHS E\ WHS H SOQDVRU YIGHR
Z WK DQ RSSRUXQIW VRV DIDLQ
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35(&$/&8/86 9LGHRYV

9LGHRYV

&$/&8/86 — 9LGHRYV

67$7-67-8&6 9LGHRYV

352 %% %/ < 9LGHRYV

*(1(5%/ &+(0 -675< 9LGHRYV

25*$1-& &+ (0 675< — 9LGHRYV +RXUXHVWLR

%2 &+ (0 675< 9LGHRYV

%2267 %< ',6&,3/,1(

ODWK IRU ODWK IRU 0DWK IRU
(QJLQHHUQ] 0 HGLFDOSVXGLHV (FRQRP LFV




2 XUYLGHR FRGHPRQV DQG LOVIHLDFVIH
®DUDLQJ SDVIKZ D\ VDI | R WX GHQW
GIDUQLQJ [RULP SLRYHG RXVFRP HV

S
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ERRW\SLRSUHS FRP
ERRW# SLRSUHS FRP

2 XU/ RFDVIRQV

8QFRPPRQ 2QH &RPPHUFH
/IRQJ /IDQH %RURXJK 1 2UDQJH 6WUHHV
/IRQGRQ 6( 3* 8. :LOPLQJWRQ '( 8



